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Seating Arrangement Questions for IBPS Clerk Pre, LIC Asst., SBI Clerk
Pre, and RRB Asst. Pre Exams.

Set No 54
Directions: Study the following information carefully and answer the questions given beside.

A group of five boys viz. Saurabh, Vinod, Ramesh, Yogi and Raj and a group of five girls viz. Soniya, Madhu,
Poonam, Gomti and Kusha are standing in two separate rows facing each other but not necessarily in the same
order. The group of boys is facing north.

Raj is not at any of the ends. Ramesh is to the immediate right of Vinod and Yogi is to the immediate left of
Saurabh, who is facing Soniya. There are as many girls between Soniya and Madhu as between Poonam and
Gomti. Saurabh is second to the left of Vinod, Gomti and Poonam are not facing either Vinod or Yogi.

1. Which one of the following is third to the right of Yogi?

A. Ramesh B. Raj C. Vinod D. Cannot be determined
E. None of these

2. Four of the following five are alike in a certain way and thus form a group. Which one of
the following does not belong to that group?

A. Yogi — Saurabh B. Madhu—Gomti  C. Poonam — Madhu D. Kusha — Poonam  E. Raj— Vinod

3. Which one of the following is positioned in front of Vinod?

A. Madhu B. Kusha C. Poonam D. Gomti E. None of these
4. Which of the following are positioned at corners?
A. Kusha — Ramesh  B. Soniya — Vinod C. Madhu - Yogi D. Gomti- Poonam E. None of these

5. Who is positioned between Poonam and Gomti?

A. Soniya B. Madhu C. Kusha D. Cannot be determined
E. None of these

Correct Answers:




Common Explanations:

Reference:
Ramesh is to the immediate right of Vinod.

Inference:

+ 4+
Vinod Ramesh

Reference:
Saurabh is second to the left of Vinod.

Inference:
4 + 4 4
Saurabh Vinod Ramesh
Reference:

Yogi is to the immediate left of Saurabh, who is facing Soniya.
Raj is not at any of the ends.

Inference:
Soniya
v v v v v
4 + 4 4 4
Yogi Saurabh Vinod Ramesh
As, Raj is not at any of the ends so:
Soniya
v v v ¥ v
t + + + 4
Yoqi Saurabh Raj Vinod Ramesh

Reference:
There are as many girls between Soniya and Madhu as between Poonam and Gomti. Gomti and Poonam are
not facing either Vinod or Yogi.

Inference:
Poonam Gomti

/ /
Kusha Soniya Gomti Madhu  Poonam
v v v ¥ v

$ + 4 t 4+
Yoqi Saurabh Raj Vinod  Ramesh




Answers :

1.

Following the common explanation, we get
Vinod is third to the right of Yogi.
Option C, is hence the correct answer.

Following the common explanation, we get
Kusha and Poonam are not standing together so are different from the group.
Option D, is hence the correct answer.

Following the common explanation, we get
Madhu is positioned in front of Vinod.
Option A, is hence the correct answer.

Following the common explanation, we get
Kusha and Ramesh are at the corners of their rows.
Option A, is hence the correct answer.

Following the common explanation, we get
Madhu is positioned between Poonam and Gomti.
Option B, is hence the correct answer.
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